sin(90°-A) = — & o, tanA ©] & Ptk (T, 0° <A <90°)

O

242 442 242 42 72
03X @F o0 F o oL~

B

sin(90° — A) = cosA = g
ojlB g
BC = /(9%)2 - (k)2 =
4k V2

42

" tand = —— =
an 7




2.

o3t Zol C7F 90° 1 AZHAZHY
AABCOA cosB2] < ?
5 9 5
@2 ® § ®
@3 ©3
cosB:£:§
AB 9




D)123 @ 11V3
@ 193 ® 183

® 10V3

. AB
tan60 —E—\/g

AB =123




@OScosxsl @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 ® -1<sinx<1

0°<x<90° Y wf0<sinyx<1,0<cosx<1,tanx>0




o2 A2t o] EE X 1T tan 54° —sin 53 ° + cos 52 ° 9] FF= FLolH?

Afel TARI EtHE
(sin) (cos (tan)

52° 0.7880 0.6157 1.2799
GEN 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
G 0.8192 0.5736 1,4281

® 1.1932 ® 1.1933 ® 1.1934
@1.1935 ® 1.1936

B ~

tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (£4]) = 1.3764 — 0.7986 + 0.6157 = 1.1935




th2 1ol 4 AHLBC, /BAC = 90°
A o, cosx +siny 2] 22

)
O)

3
® 3

®

O A | W

7
1
8
5

BC=+V32+42=5
(ABH =y, /ACH = x

AABC A cosx = % = %l, siny =

&l &
| W~

8
. COSX+siny = 5




7. o2 O™2 gt ¥e Holrb 1 9l A8H
Aoltt, /CFG = x & o, sinx o] 4

ot

A D
| C
B Ly
AT =
G
® 2




cheo] 419 g Paha?
2 — 3sin 30° X tan 45° + 2 sin 60° X cos 60°

1+ 2 1+ V3
ol @
@1+322 ©1+33

[

=

1 V31
(%}—\J')ZQ_3X§X]‘+2XTX§
:2_§+i§
2 2
1443
2




9.

A =60° o, £ 9] kg Foha?

1 1
sinA + cosA  cosA—sinA
®3v3i @23 0 V3 ®2v2 O V2
B . V3 1 1++V3
sin 60° + cos 60 —74—5— 5
o . .o 1 V3 1-+3
cos 60° — sin 60 =3" 5 = 5
(FH) = -
1+V3 1-+3
2(1- ) 2(1+ V3)
(1 8) (1-V3)
2-2V3-2-2v3
B -2
_—4V3
)
=24/3




10. o2 O3 2ol y = mx+n 9 227}
x Z3} oFo] Hhgko & o] R 71o] 97]5 ¢
2t & o), m e UERd 220

DYtana @ cosa—sina
1 cosa
® - @ =
sina sina
1
tana

(l-—_o]) _ (y94 }5@_%}:) _ |(%;—q_§:]l_

1) (x2] WS

wt2bA 7127] m = tana ©]t.




11.

OJAAA] ¥ -3 = 0 & BESHE x 9 Zol tana o] g 2L

sinAcosA 9 27 (F,0°<A<90°)

O] @?

DN | =
®)
| =

V3
Ohs

~&B

x*=3=0 °f|A
=3, . x=V3( x>0)
tanA = V3, . A=60°(-0°<A<90°)

V3 1

sin A cos A = sin60° X cos 60° = - X 5=

V3
4




e sin cos tan

44 0.6947 0.7193 0.9657

45 0,7071 0,7071 1,0000

46 0,7193 0,6947 1,0355
@ 1.022 (@)6.947 ® 7.071
@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947




13. oh2o] A7 ABC oA cosA+ g

6V3+5 6V3+7
@ ‘/—4—’— @ ‘/;4—’—
7V3+5 TV3+7
® N%A QZD 14
8V3+5
® 14
= V142 -72 = V14T =73
cos A +sin A = 7\/_‘*‘ 7‘/§+7

14 14 14




14. o5 29"A siny + cosx 9] g7

®1

S)
ol

®
SIS

ol




15. o5 Z2™A x 9 gh2?

ov: @i 0>

~&B

BC = 2tan60° = 2 x V3 =23

CE = V6 xcos45° = VB x —— = V3
]

Sx=BC-CE=2V3- V3= 13




16. ths 13 Zo] WA 5o] do]7b1 Q1 ARE-HellA] tha
nE 12H? (g2 A

® sinA =AB @ cosA = AD
(@)SinC:E ® cosC =BD

@®)tan A = DE

B

em -
=

A B D
@sinA:%:?:ﬁ
@cosAzgzle:E
@tanA:i)_zizilE:ﬁ
@sinC:i_zz:?:E
@cosCzi;S):?:m




17. O3} o] Hiz]29] Zoj7} 1 ¢l

oA sinx, cosx & UEU = A
AR Yde A2

Q-_O_

A
HO
=

® A3,08  (@)0B.AB
® AB.OD @ OB,CD
® OD,CD

B

C

AB//CD °]|B2& /OAB = /0CD

sin x = sin(ZOAB) = (O)—i =0B,
cosx = cos(ZOAB) = AB = AB

OA




18.

e % 2 3ol e RE vdE AL

H7]

@ cos 80° © cos 0° © tan 0°

® cos 27° © sin 15°

0,060 ® 0.6.@ 86,0
® 6,©.8,0 @ @ ©,6,.0,@ 0
®o.e 6 06,6

B

SEE REL
tanz
1 R ,sinz
Jal A : :
2 l l
I I
: 1COS 2
0] 45° 90°

0<x<45° A= 1> cosx > sinx

45° < x < 90° 9| A= 1 > sin x > cos x

45° < x < 90° °|A] tanx > 1

ool A & o Z7|w=0 2 A YIe A2 @oltt.




19. 45° <A <90° Y W, sinA, cosA, tanA o A WA 2 &L AL

@ tanA < cosA <sinA @ cosA <tanA <sinA
@ sinA < cosA < tanA @ sinA < tanA < cosA
@COSA <sinA <tanA

tanx
| y/—— ,sinz
Vol A : :
2 ! !
] I
] [}
: :COS:E
0) 45°  90°
JdFoA K

0<x<45° A= 1> cosx >sinx

45° < x < 90° 9| A= 1 > sin x > cos x

45° < x < 90° o A tanx > 1

ok2hA] 45° < A < 90° 4] cosA < sinA < tan A




20. sinx=cosx ¥ I, sin xcos x & & kit (T 0° < x < 90°)

! N NG N NG
OF @ 04 @®45 0O

~&B

sinx = cosx & sin® x + cos? x = 1 o] YsHA

cos?x+cos?x=1

2cos?x =1

g cosx:\/i§ (v 0°<x<90° oA cosx > 0)
. g _ 1

: s1nx_7§

: sinxcosx—ixi—1

' 2 V2 2




21.

sin A +2cos A
sin A — cos A

tanA = = Q4 of,

DN | =

D 5 @ 3 31

B

of gre 7ok

2 1™

1
tanA +2 §+2
tanA -1 1_1

2

Zoj7] Alo] B, BAS 27} cos A 2 Lhe F,




22. o2 1™ sinx 9 F2?

S)
ol w

4
Ok ®

] w

B

AEDC ™ ABAC(AA E5) 0|22
(DEC = /ABC ©]|t}.

webA] sinx = S = ¢ ol

&l




23. the 2t Zol WAF olrh 1 0|1, FA %] 37171 35° 4

HAE ABC 7} oAtk A C oA AB o] & =40 W& D 2 & o,
th2 % BD 9 Zol=?

@ 1-tan3b° @ 1+5sin35° (@)1 — cos 35°
@ 1-sin35° ® 1+ cos35°

BD = AB- AD
AB=1, AD =1 X cos 35°
= BD =1 - cos35°




@ sind5° = cos45°
@ tan35° < tan40°®
@Sin 56° < cos 56 °

24. o F £ YL AL BE 1297

@cos48° > cos38°
@ sin37° < cos37°

B

@ cos48° < cos 38°
® tan35° < tan40°
@ sin37° < cos 37°
® sin 56 ° > cos 56 °




1 2
25. 0°<A<60° ¥, (5 —cosA) - /(cosA +sin30°)2 9] F=

57

1
@ 2sinA 3 sin A @1
-1

@
@ 0 ®
B ~

0° <A <60° 2] H A cosA O] Hel=

<cosA<19]BEZ

DN | =

1
5" cosA < 0 °]t}.

1 2
(5 = cosA) — /(cos A + sin 30°)2
1 .
= — <§ - cosA> — (cos A + sin 30°)
1 .
=3 + cosA — cos A — sin 30°

1
= —= —sin30°
2 S1n




